SSsC |
addazayi A

RAILWAY RECRUITMENT BOARDS addaz1
Yo Hdt Qs

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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/< 4 % 5000

Q.3 fHdt ) WA W ES @59, G 80 kmyhr B @1 39T T O ue [EG g8 99 o 21 sh-os
3 %, 9 60 kmvhr P ST TR ¥ 8 IR R 31 98 WY ver fbat e s 2
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X 4 7 4,000

Q.5 us fys ABC #, D, E 3R F @ OF Yol BC, CA iR AB & T fig 21 BE 3X DF Td g
4 i X W @red §1 DE 3R CF U% g & Y W &edl 81 XY =2

Ans x1% BC
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(4.i BC
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2
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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Ans X1 O
<2 A
X3D
v B
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X 2 TSt gF
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X 4 e

Q.6
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Udh 1 kg B T 30 m & Fas 4 YA R RS S0 81 Fo-aa R a1 T & =il
@~ e g = 10 mis B)
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<3033 J
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C,E SR F & H gl F &l [daig z 9 g3 g1 C &1 Z ¥ 1 4ey g2
v O

X2g
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Ans x.l. W

X 2 gA®
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v o TagYIg
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A X 1. 25% g1
V' 2 25% WY
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X 4 15% eI

046 Calculate the momentum of a gun of mass 400 kg when it recoils with a velocity of 0.25ms™.

AmS 1100 kgms?
2. 100 kgms?

3. 100 kms™?
4. 100 kgms ™2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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X2p 3R A
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% PR S T o 7 oy WA 8 &2
Ans X 1. 6.022 % 1024

v 2 6.022% 1023

X 3 6.022%x 10%°

X 4 6.022 x 1022

@6 Mechanical energy is:
Ans 1. The energy released during mechanical work
v 2
The sum of kinetic energy and the potential energy of an object
/< 3. Equal to the rate of doing work

/< 4. The energy absorbed during movement of a body

Page (23)




Q6 19 Sl 2018 B Y WRA & TET TG G & w9 H Fgad fFar me
" 30T g ad

X 2 GHId AR

X e qar

X 4 el SRTST

% fou U ooy RE # ¥ LIGHT & o gdur ufafde &1 959 =3
fameq o

el THOU Il mieny 1HON

<
> 000

Q7 0% 10 kg F1 T 5 m/s FI T Y A 31 TG B A oAt Rl
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==l
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FU:
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X1 Haq 2 WU H ©
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Q.8 % aw F UH 2909 S0 & G IG5 BiHY [§g R Thdl $% & 99 G 1P &g W W@ ™
T 21 RBifffr @9 arehl ofd @

e XL eyl SR iR
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A2l 3R It
X4 grafdd ok W

A - | _ Ve+1 3
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313
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& St vee A o Feart I Fe, H 39 9N 31 RU &1 Y 1eed % 9me TRdd & @t
IgHal § Tditen FT @ g

TF&I'I'\'“IT:
I 39 &7 & SO T8 70 e Y g
Il. Ui & U Agedyyl WP 8 ol Wi gdyd W ue yHiE Sl 8

o gduRo | SR 11 g & ST ©
X 2 $Had YURUN || SfdFied gl
X 5 Pad YdyRUN | AdHied 8l
X4 9 G gduRon | 3R A & gdyRon 1| siafifed §

048 TF ffEd His #, TEAM & WHDP & ©9 # fora o1ar 1 93 &1 & COINS ST $y forar smam?

Ans of 1. FRLQV
X 2 FRLBZ
~ 3 RvJaL
X 4 QJPTU

05-8 Viacom 18 Hifgar wi. fafes 3 o Rd) gd) 290 Red RAwer &1 # g )
Ans 5 1. SHdcsY 2015

X 2 75 2017
23 2d 2014
v 4 T35 2016
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S R T Y RAT $ag  # GuT 2
Ans x.]a'[g

X > R

X 3. QIR0

v fafa

% Apple 7 @ ¥ iPad &I AecHfSar foamy & w9 # Uy )
Ans 1. 2009

X 2 2008

v 3 2010

X 4 2011

Q.8 Fzu, A, g, T SR T U Ui W WS T OSH SR W M Uy &1 SR o & fau fmfarad
8 Tl A BF W wafa 2

&1 ui" d 8 S &9 H @sl 82
FY:
1. 9q W=y ot gl
2. %0l gFd &1 gal § da gl
3. 847 31 |l & ged B
4. 94 for § ot gl

e XK1 PYT 1 R 3 wiE gl
X2 FHad Y 1, 2 3R 3 74 g
V3 HYT 1, 2, 3 AR 4 TOIQ gl
X4 IWIgd ¥ I Bls W Hy9 gai| a1 gl
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Qés 85% daq @d B P 91, AP Ui A 2 1,200 ST &1 BT A I fhar 22

Ans 1.3 12,000
2 % 8,000
/< 3 % 10,000
X 4 % 8,500

069 g+ B < F FUH AR % B+ F FU Y RGN I8, T (25 +30) x 5) X 10 DI A I &7

Ans X1 4
X20
X3 0.1
v —0.1

Q.9 Name the process in which a metal is attacked by substances around it such as moisture, acids, etc.
1

Ans o 1. Corrosion
& 2 Oxidation
/< 3. Rancidity
& 4 Reduction
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A B
B. WRIAAR

D. Il

Ans X1 D
X2 C
X3 A
v+ B

Qé" YR g & Gl (PIO) &7 Ugdl GUad SHeT_ &l o f&ar e
A o1 9 HEd 2018

X2 11 Jdls 2014
X3 2 3{Ud, 2017
X 4 19 SHdR] 2016

% =St (4,1, (1,1), (3,5) g Ffda Bryw e
XK. gafgeEg SR GHSI By

v 2 fauq 91 fBAys

X . TSIV WY JAGaE HYS T8l

X+ gAGATG WG GHSIU el
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059 ofe U FAfEd W # MAT & BIS KYR B, ol 38 WIS & ‘HIS’ &1 $9 orar smem?

Ans X1 FGT
X 2 FGR
X 3 FGH
v 4 FGQ

069 RIS Wolre & QR o9 & S-SR WiE] SN §aie gril §, a4 @l FHo @ gl
Ans JT W

X2 Sl

X 3 g

X 4 oo

Qf Which of the below is not a part of 5- Kingdom classification by Whittaker?

Ans < 1. Protista
/< 2. Fungi

v 3 Protozoa
/< 4 Animalia
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Ans

% affecey &1 eisy Rigid Had T A e ol
Ans J‘]a%

X adn

< 3 e

X« R

% fauwR 2017 &, Tt f3urs qweR ¥ 58 gmtia G mr o
e o Tl

X 2 S TR g

X s S =Mfd IS
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